
FA Part 1 English Chapter 2 Online Test

Sr Questions Answers Choice

1 Why did the old man hunt the squirrels.
A. To sell
B. To kill
C. To cock
D. To pet

2 What type of special tree was found by the old man.
A. cherry
B. Apple
C. Orange
D. Coffee

3 What was the age of Jess when his father made a plough for him
A. 5 years
B. 6 years
C. 7 years
D. 8 years

4 What crossed the path of jess and his father
A. A snake
B. A deer
C. A dog
D. A squirrel

5 The old man cut which his pocket knife.
A. a wisp of alfalfa
B. A flower
C. A sapling
D. A tomato

6 What did jess 'father hunt.
A. deer
B. goat
C. Sparrows
D. Squirrels

7 How many patches of bared soil were there
A. Seven
B. Eight
C. Nine
D. Ten

8 Jess lost his plough in a furrow.
A. Valley
B. Groove
C. Stream
D. Barrow

9 The fingers of trees were funding the substances of clouds.
A. Shwing
B. Handing
C. Caressing
D. Tearing

10 "Look at this jess" he bragged.
A. mocked
B. Boasted
C. smiled
D. Laughed


